Overall CT ogometry (fan beam)
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overlap kerval resampling pseudocode (Basu, 2006)

current pixel = first pixel in the row
current detector = first detector in the view

p p while (current pixel <= last pixel in the row)
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pixelvalue += (pixelboundary

previousboundary = pixelboundary;
go to next pixel;

else
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pixelvalue += (detectorboundary

- previousboundary) * detectorvalue;
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—break down into 4 tases

— {ollow Convolwkion wmethed 2

- previousboundary) * detectorvalue;

previousboundary = detectorboundary;
go to next detector;
}
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